
www.spacegeneral.co.nz



1

2

3

4

5

6

7
8

9

9

9

10
11



1 2 3 4

1PC
5 6 7 8

9 10 11

3PCS

1PC 1PC 1PC

1PC1PC1PC1PC

1PC 1PC



 M5×12 mm

  A × 20   B × 11   C × 4

  M6

  D × 3

  M4×10 mm

  E × 4   F × 2   G × 4   H × 2

  J × 2   K × 2   L × 2   M × 1

  M6×12 mm

 M4×40 mm

  N × 1

     2mm



1 C × 4

  C

  C

  C

1

2

3

4

3

4

  C



2 B × 8

 M6×12 mm
5

  B

A × 8

  M5×12 mm

  B

 A



3

6

1

2



4 B × 3

 M6×12 mm

A × 10

M5×12 mm

D × 3

        M6

N × 1

8 7

2

1

 A

 B

 D

 N



5

9

9

9

1

2



6 F × 2E × 4 G × 4

M4×10 mm

J × 2H × 2

    2mm

I II

III IV

 H
 J

Fx2
 E

G

10

11

10 11/

 F



7 K × 2A × 2

M5×12 mm

K

K

A

K

X

X

100%
A

80%



8  L × 2

L

L

M4×40 mm



Awesome!
You did it!

We’d love to see how it looks in your
space—share your setup and tag us on

Visit us at www.spacegeneral.co.nz.

Instagram @spacegeneralnz


